APPLICATIONS OF A CERTAIN FAMILY OF HYPERGEOMETRIC SUMMATION FORMULAS ASSOCIATED WITH PSI AND ZETA FUNCTIONS

JUNESANG CHOI, H. M. SRIVASTAVA, AND YONGSUP KIM

ABSTRACT. The main object of this paper is first to give two contiguous analogues of a well-known hypergeometric summation formula for $_2F_1(1/2)$. We then apply each of these analogues with a view to evaluating the sums of several classes of series in terms of the Psi (or Digamma) and the Zeta functions. Relevant connections of the series identities presented here with those given elsewhere are also pointed out.

1. Introduction and Preliminaries

The generalized hypergeometric function with p numerator and q denominator parameters is defined by

(1.1)
$${}_{p}F_{q}\begin{bmatrix}\alpha_{1},\ldots,\alpha_{p};\\\beta_{1},\ldots,\beta_{q};\end{bmatrix} = {}_{p}F_{q}(\alpha_{1},\ldots,\alpha_{p};\beta_{1},\ldots,\beta_{q};z)$$
$$= \sum_{n=0}^{\infty} \frac{(\alpha_{1})_{n}\ldots(\alpha_{p})_{n}}{(\beta_{1})_{n}\ldots(\beta_{q})_{n}} \frac{z^{n}}{n!},$$

where $(\alpha)_n$ denotes the Pochhammer symbol (or the shifted factorial) defined by

(1.2)
$$(\alpha)_n := \begin{cases} 1 & (n=0) \\ \alpha(\alpha+1)\dots(\alpha+n-1) & (n \in \mathbb{N} := \{1,2,3,\dots\}), \end{cases}$$

Received September 25, 2000.

2000 Mathematics Subject Classification: Primary 40-00; Secondary 33B15, 33C05. Key words and phrases: Polygamma functions, Psi (or Digamma) function, Riemann Zeta function, Hurwitz Zeta function, Hypergeometric series, Stirling numbers.

which can also be rewritten in the form:

(1.3)
$$(\alpha)_n = \frac{\Gamma(\alpha+n)}{\Gamma(\alpha)},$$

where Γ is the well-known Gamma function whose Weierstrass canonical product form is

(1.4)
$$\Gamma(z) = \frac{e^{-\gamma z}}{z} \prod_{n=1}^{\infty} \left\{ \left(1 + \frac{z}{n} \right)^{-1} e^{z/n} \right\},$$

 γ being the Euler-Mascheroni constant defined by

(1.5)
$$\gamma := \lim_{n \to \infty} \left(\sum_{k=1}^{n} \frac{1}{k} - \log n \right) \cong 0.577\,215\,664\,901\,532\dots$$

With the notation (1.1), the Gaussian hypergeometric series is ${}_{2}F_{1}$, which is also denoted simply by F.

The Psi (or Digamma) function is defined as the logarithmic derivative of the Gamma function:

(1.6)
$$\psi(z) := \frac{d}{dz} \log \Gamma(z) = \frac{\Gamma'(z)}{\Gamma(z)}.$$

We recall here some well-known properties of the ψ -function (see [8]): For a positive integer n,

(1.7)
$$\psi(1) = -\gamma; \qquad \psi\left(\frac{1}{2}\right) = -\gamma - 2\log 2;$$

$$\psi(z+n) - \psi(z) = \sum_{k=0}^{n-1} \frac{1}{z+k}.$$

The Polygamma functions are defined by (see [8, p. 41])

(1.8)
$$\psi^{(n)}(z) := \begin{cases} \frac{d^{n+1}}{dz^{n+1}} \log \Gamma(z) & (n \in \mathbb{N}) \\ \psi(z) & (n = 0). \end{cases}$$

By definition it is easy to see that (1.9)

$$\psi^{(n)}(z) = (-1)^{n+1} n! \sum_{k=0}^{\infty} \frac{1}{(k+z)^{n+1}} = (-1)^{n+1} n! \zeta(n+1,z) \ (n \in \mathbb{N}),$$

where $\zeta(z,a)$ is the generalized (or Hurwitz) Zeta function defined by

(1.10)
$$\zeta(z,a) = \sum_{k=0}^{\infty} (k+a)^{-z} (\operatorname{Re}(z) > 1; \ a \neq 0, -1, -2, \dots)$$

and $\zeta(z,1) = \zeta(z)$ is the Riemann Zeta function. It is not difficult to derive the following properties (see [18, pp. 265-275]):

(1.11)
$$\zeta(z) = \frac{1}{1 - 2^{-z}} \sum_{k=1}^{\infty} \frac{1}{(2k - 1)^z} = \frac{1}{2^z - 1} \zeta\left(z, \frac{1}{2}\right) \quad (\Re(z) > 1);$$
$$\zeta(z, a) = \zeta(z, n + a) + \sum_{k=0}^{n-1} (k + a)^{-z} \quad (n \in \mathbb{N}).$$

There are four known main summation theorems for $_2F_1$ with arguments 1, -1, and $\frac{1}{2}$, which play important roles in theory and applications. The following summation formula was given by Kummer [11]:

$$(1.12) _{2}F_{1}\begin{bmatrix} a, b; \\ \frac{1}{2}(a+b+1); \end{bmatrix} = \frac{\Gamma(\frac{1}{2})\Gamma(\frac{1}{2}+\frac{1}{2}a+\frac{1}{2}b)}{\Gamma(\frac{1}{2}+\frac{1}{2}a)\Gamma(\frac{1}{2}+\frac{1}{2}b)}.$$

In this paper we first give two summation formulas for ${}_2F_1\left(\frac{1}{2}\right)$ which are actually contiguous to Kummer's summation theorem (1.12). We also show how these formulas can be applied in order to evaluate the sums of several classes of series in terms of the Psi (or Digamma) and the Zeta functions.

2. Contiguous analogues of the summation formula (1.12)

The first question is to express

$$_{2}F_{1}\left[a, b; \frac{1}{2} \left[1 + \frac{1}{2}(a+b); \frac{1}{2} \right] \right]$$

in a closed form like (1.12).

For a given F = F(A, B; C; z), as usual, denote

$$F(A+) := F(A+1, B; C; z),$$

 $F(A+, B-) := F(A+1, B-1; C; z),$

and so on. Recall a known contiguous formula (see Rainville [14, p. 72]):

(2.1)
$$F = F(A-,B+) + \frac{1}{C}(B+1-A)zF(B+,C+).$$

Now, replacing a and b by a-1 and b-1, respectively, we find from (1.12) that

(2.2)
$${}_{2}F_{1}\begin{bmatrix} a-1, & b; \\ \frac{1}{2}(a+b); \\ \frac{1}{2} \end{bmatrix} = \frac{\Gamma(\frac{1}{2})\Gamma(\frac{1}{2}a+\frac{1}{2}b)}{\Gamma(\frac{1}{2}a)\Gamma(\frac{1}{2}b+\frac{1}{2})}$$

and

$$(2.3) {}_{2}F_{1}\begin{bmatrix} a, b-1; \\ \frac{1}{2}(a+b); \frac{1}{2} \end{bmatrix} = \frac{\Gamma\left(\frac{1}{2}\right)\Gamma\left(\frac{1}{2}a+\frac{1}{2}b\right)}{\Gamma\left(\frac{1}{2}a+\frac{1}{2}\right)\Gamma\left(\frac{1}{2}b\right)}.$$

Setting A = a, B = b - 1, $C = \frac{1}{2}(a + b)$, and $z = \frac{1}{2}$ in (2.1), and applying (2.2) and (2.3) to the resulting equation, we obtain the first desired summation formula: (2.4)

$$\begin{split} &_{2}F_{1}\left[\begin{array}{c} a, \ b; \\ 1+\frac{1}{2}(a+b); \end{array}^{\frac{1}{2}}\right] \\ &=\frac{a+b}{a-b}\Gamma\left(\frac{1}{2}\right)\Gamma\left(\frac{1}{2}a+\frac{1}{2}b\right)\left\{\frac{1}{\Gamma\left(\frac{1}{2}a\right)\Gamma\left(\frac{1}{2}b+\frac{1}{2}\right)}-\frac{1}{\Gamma\left(\frac{1}{2}b\right)\Gamma\left(\frac{1}{2}a+\frac{1}{2}\right)}\right\}. \end{split}$$

Replacing a and b by 2a and 2b, respectively, and using $\Gamma(z+1) = z\Gamma(z)$, we obtain the following equivalent form of (2.4):

(2.5)
$$2F_{1} \begin{bmatrix} 2a, & 2b; & 1 \\ 1+a+b; & 2 \end{bmatrix}$$

$$= \frac{\Gamma(\frac{1}{2})\Gamma(a+b+1)}{a-b} \left\{ \frac{1}{\Gamma(a)\Gamma(b+\frac{1}{2})} - \frac{1}{\Gamma(b)\Gamma(a+\frac{1}{2})} \right\}.$$

Another summation formula contiguous to (1.12) and (2.4) is given by

(2.6)
$${}_{2}F_{1}\begin{bmatrix} a, b; \\ \frac{1}{2}(a+b); \\ \frac{1}{2} \end{bmatrix}$$

$$= \Gamma\left(\frac{1}{2}\right)\Gamma\left(\frac{1}{2}a + \frac{1}{2}b\right)\left\{\frac{1}{\Gamma\left(\frac{1}{2}a\right)\Gamma\left(\frac{1}{2}b + \frac{1}{2}\right)} + \frac{1}{\Gamma\left(\frac{1}{2}b\right)\Gamma\left(\frac{1}{2}a + \frac{1}{2}\right)}\right\}.$$

Indeed, we first recall a known contiguous formula (see Rainville [14, p. 71]):

(2.7)
$$(1-z)F = F(A-) - \frac{C-B}{C}zF(C+).$$

Setting A = a, B = b, $C = \frac{1}{2}(a + b)$, and $z = \frac{1}{2}$ in (2.7), and making use of (2.2) and (2.4) in the resulting equation, we have the desired formula (2.6).

If we replace a and b by 2a and 2b, respectively, we obtain the following equivalent form of (2.6):

(2.8)
$$= \Gamma \left[\frac{2a, 2b; 1}{a+b; 2} \right]$$

$$= \Gamma \left(\frac{1}{2} \right) \Gamma (a+b) \left\{ \frac{1}{\Gamma (a) \Gamma \left(b+\frac{1}{2}\right)} + \frac{1}{\Gamma (b) \Gamma \left(a+\frac{1}{2}\right)} \right\}.$$

It may be remarked in passing that Lavoie et al. [12] established many contiguous extensions of a well-known $_3F_2$ summation theorem, and deduced (2.4) and (2.6) in a markedly different way.

3. Product formulas for hypergeometric functions

The summation formulas (2.4) and (2.6) can readily be applied to derive some contiguous analogues of Kummer's second transformation [11]:

(3.1)
$$e^{-\frac{x}{2}} {}_1F_1(\alpha; 2\alpha; x) = {}_0F_1\left(-; \alpha + \frac{1}{2}; \frac{x^2}{16}\right).$$

Indeed, if we let

(3.2)
$$e^{-\frac{x}{2}} {}_{1}F_{1}(\alpha; 2\alpha + 1; x) := \sum_{n=0}^{\infty} a_{n}x^{n}$$

and use the Cauchy product rule for two series, we find that

(3.3)
$$a_n = \frac{(\alpha)_n}{(2\alpha+1)_n \cdot n!} {}_2F_1 \begin{bmatrix} -n, & -2\alpha-n; \\ 1-\alpha-n; \\ 2 \end{bmatrix}.$$

Setting a=-n and $b=-2\alpha-n$ in (2.4) in order to evaluate the ${}_2F_1(\frac{1}{2})$ in (3.3), we get

$$(3.4) \quad a_{n} = \Gamma\left(\frac{1}{2}\right) \frac{(\alpha)_{n}}{(2\alpha+1)_{n} \cdot n!} \frac{\alpha+n}{\alpha} \frac{\Gamma(-n-\alpha)}{\Gamma\left(-\alpha-\frac{n}{2}\right)\Gamma\left(\frac{1-n}{2}\right)} - \Gamma\left(\frac{1}{2}\right) \frac{(\alpha)_{n}}{(2\alpha+1)_{n} \cdot n!} \frac{\alpha+n}{\alpha} \frac{\Gamma(-n-\alpha)}{\Gamma\left(-\alpha-\frac{n}{2}+\frac{1}{2}\right)\Gamma\left(-\frac{n}{2}\right)} (n \in \mathbb{N}_{0} := \mathbb{N} \cup \{0\}),$$

so that, finally,

(3.5)
$$e^{-\frac{x}{2}} {}_{1}F_{1}(\alpha; 2\alpha+1; x) = \sum_{n=0}^{\infty} b_{n}x^{2n} + \sum_{n=0}^{\infty} c_{n}x^{2n+1},$$

where

(3.6)
$$b_n = \frac{1}{(\alpha + \frac{1}{2})_n \cdot n! \cdot 2^{4n}}$$

and

(3.7)
$$c_n = -\frac{1}{2\alpha + 1} \frac{1}{\left(\alpha + \frac{3}{2}\right)_n \cdot n! \cdot 2^{4n}}.$$

From (3.5), (3.6), and (3.7), we obtain

(3.8)
$$e^{-\frac{x}{2}} {}_{1}F_{1}(\alpha; 2\alpha + 1; x) = {}_{0}F_{1}\left(-; \alpha + \frac{1}{2}; \frac{x^{2}}{16}\right) - \frac{x}{2(2\alpha + 1)} {}_{0}F_{1}\left(-; \alpha + \frac{3}{2}; \frac{x^{2}}{16}\right).$$

Similarly, by letting

(3.9)
$$e^{-\frac{x}{2}} {}_{1}F_{1}(\alpha; 2\alpha - 1; x) := \sum_{n=0}^{\infty} a_{n}x^{n},$$

we have

(3.10)
$$a_n = \frac{(\alpha)_n}{(2\alpha - 1)_n \cdot n!} {}_2F_1 \begin{bmatrix} -n, & 2 - 2\alpha - n; \\ & 1 - \alpha - n; \end{bmatrix}.$$

Now, applying the formula (2.6) to (3.10), we easily obtain another product formula:

(3.11)
$$e^{-\frac{x}{2}} {}_{1}F_{1}(\alpha; 2\alpha - 1; x) = {}_{0}F_{1}\left(-; \alpha - \frac{1}{2}; \frac{x^{2}}{16}\right) + \frac{x}{2(2\alpha - 1)} {}_{0}F_{1}\left(-; \alpha + \frac{1}{2}; \frac{x^{2}}{16}\right).$$

Both (3.8) and (3.11) were derived elsewhere by Rathie and Nagar [15]. It should be observed that, in view of Kummer's first transformation [11]:

$$(3.12) 1F1(\alpha; \gamma; z) = ez 1F1(\gamma - \alpha; \gamma; -z),$$

both (3.8) and (3.11) are the same result: For instance, we just replace α by $\alpha - 1$ and x by -x in (3.8), and apply (3.12) to obtain (3.11) immediately from (3.8).

4. Certain classes of infinite series associated with Psi and Zeta functions

Many infinite series have been evaluated in terms of the Psi and Zeta functions (see [9], [10]). Al-Saqabi et al. [1] presented a systematic account of several interesting infinite series expressed in terms of the Psi (or Digamma) functions. Aular de Durán et al. [2] examined rather systematically the sums of numerous interesting families of infinite series with or without the use of fractional calculus. Shen [16] investigated the connections between the Stirling numbers s(n, k) of the first kind and the Riemann Zeta function $\zeta(n)$ by means of the Gauss summation formula for ${}_2F_1$. Various other classes of infinite series have also been evaluated

by making use of known summation formulas for $_2F_1$ and $_3F_2$ (see [4], [5], and [6]). In this section we evaluate the sums of certain families of infinite series by using our formulas (2.5) and (2.8).

We introduce the Stirling numbers s(n, k) of the first kind defined by the following equation (see [7, pp. 204-218], [13, p. 43], and [17, p. 396, Problem 25]):

$$z(z-1)\cdots(z-n+1)=\sum_{k=0}^n s(n,k)z^k.$$

From the above definition of s(n,k), the Pochhammer symbol (or the shifted factorial) can be written in the form:

$$(4.1) (z)_n = z(z+1)\cdots(z+n-1) = \sum_{k=0}^n (-1)^{n+k} s(n,k) z^k.$$

It is not difficult to see also that

$$(-1)^{n+1}s(n,1) = (n-1)!; \qquad (-1)^n s(n,2) = (n-1)! \sum_{k=1}^{n-1} \frac{1}{k};$$

$$(4.2)$$

$$(-1)^{n+1}s(n,3) = \frac{(n-1)!}{2} \left\{ \left(\sum_{k=1}^{n-1} \frac{1}{k} \right)^2 - \sum_{k=1}^{n-1} \frac{1}{k^2} \right\}.$$

Considering (1.3) and differentiating each side of (4.1) with respect to z, successively, we obtain the following finite sums involving s(n, k):

$$\sum_{k=1}^{n} (-1)^{n+k} k s(n,k) z^{k-1} = (z)_n [\psi(z+n) - \psi(z)];$$

$$\sum_{k=2}^{n} (-1)^{n+k} k (k-1) s(n,k) z^{k-2}$$

$$= (z)_n \left[\{ \psi(z+n) - \psi(z) \}^2 + \psi^{(1)}(z+n) - \psi^{(1)}(z) \right];$$

$$\sum_{k=3}^{n} (-1)^{n+k} k (k-1) (k-2) s(n,k) z^{k-3}$$

$$= (z)_n \left[\{ \psi(z+n) - \psi(z) \}^3 + 3 \{ \psi(z+n) - \psi(z) \} \right]$$

$$\times \left\{ \psi^{(1)}(z+n) - \psi^{(1)}(z) \right\} + \psi^{(2)}(z+n) - \psi^{(2)}(z) \right].$$

Replace a by z in (2.5) and set

$$f(z) := 1 + \sum_{n=1}^{\infty} \frac{(2b)_n}{2^n n!} \frac{(2z)_n}{(1+b+z)_n}$$

$$= \frac{\Gamma\left(\frac{1}{2}\right) \Gamma\left(z+b+1\right)}{z-b} \left\{ \frac{1}{\Gamma\left(z\right) \Gamma\left(b+\frac{1}{2}\right)} - \frac{1}{\Gamma\left(b\right) \Gamma\left(z+\frac{1}{2}\right)} \right\}$$

$$:= \sum_{n=0}^{\infty} a_n z^n.$$

Setting f(z) := g(z)h(z), where

(4.5)
$$g(z) := \frac{\Gamma\left(\frac{1}{2}\right)\Gamma\left(z+b+1\right)}{z-b}$$

and

$$(4.6) h(z) := \frac{1}{\Gamma(z)\Gamma(b+\frac{1}{2})} - \frac{1}{\Gamma(b)\Gamma(z+\frac{1}{2})},$$

and making use of the aforementioned properties of Gamma, generalized Zeta, and Psi functions, we readily obtain (4.7)

$$\begin{split} g(0) &= -\Gamma\left(\frac{1}{2}\right)\Gamma(b), \quad h(0) = -\frac{1}{\Gamma\left(\frac{1}{2}\right)\Gamma(b)}; \\ g'(0) &= -\Gamma\left(\frac{1}{2}\right)\Gamma(b+1)\frac{b\psi(b+1)+1}{b^2}, \\ h'(0) &= \frac{1}{\Gamma\left(b+\frac{1}{2}\right)} + \frac{\psi\left(\frac{1}{2}\right)}{\Gamma\left(\frac{1}{2}\right)\Gamma(b)}; \\ g''(0) &= -\Gamma\left(\frac{1}{2}\right)\Gamma(b)\left[\left\{\psi(b+1)\right\}^2 + \frac{2\psi(b+1)}{b} + \zeta(2,b+1) + \frac{2}{b^2}\right], \\ h''(0) &= \frac{2\gamma}{\Gamma\left(b+\frac{1}{2}\right)} + \frac{1}{\Gamma(b)\Gamma\left(\frac{1}{2}\right)}\left[3\zeta(2) - \left\{\psi\left(\frac{1}{2}\right)\right\}^2\right]. \end{split}$$

Now, by using Leibniz's rule for differentiation, we find that (4.8)

$$a_0 = f(0) = 1,$$

$$a_{1} = f'(0) = \psi(b+1) - \psi\left(\frac{1}{2}\right) + \frac{1}{b} - \frac{\Gamma\left(\frac{1}{2}\right)\Gamma(b)}{\Gamma\left(b + \frac{1}{2}\right)},$$

$$a_{2} = \frac{1}{2} \left[\left\{ \psi(b+1) - \psi\left(\frac{1}{2}\right) \right\}^{2} + \frac{2}{b} \left\{ \psi(b+1) - \psi\left(\frac{1}{2}\right) \right\}$$

$$-2 \left\{ \psi(b+1) + \frac{1}{b} + \gamma \right\} \frac{\Gamma\left(\frac{1}{2}\right)\Gamma(b)}{\Gamma\left(b + \frac{1}{2}\right)} + \zeta(2, b+1) - 3\zeta(2) + \frac{2}{b^{2}} \right],$$

and so on. On the other hand, consider the first equality of (4.4). From (4.1), we have

$$(4.9) (2z)_n := \sum_{k=1}^n A_k z^k,$$

where

$$(4.10) A_k = (-1)^{n+k} s(n,k) \cdot 2^k (k=1,\ldots,n).$$

In view of the following series identity:

$$\sum_{k=0}^{n} \sum_{\ell=0}^{k} B_{k,\ell} = \sum_{\ell=0}^{n} \sum_{k=\ell}^{n} B_{k,\ell},$$

we obtain

$$(4.11) \qquad (1+b+z)_n = \sum_{k=0}^n (-1)^{n+k} s(n,k) (1+b+z)^k$$

$$= \sum_{k=0}^n (-1)^{n+k} s(n,k) \left\{ \sum_{\ell=0}^k \binom{k}{\ell} (1+b)^{k-\ell} \cdot z^\ell \right\}$$

$$:= \sum_{\ell=0}^n B_\ell z^\ell,$$

where

(4.12)
$$B_{\ell} = \sum_{k=\ell}^{n} (-1)^{n+k} s(n,k) \binom{k}{\ell} (1+b)^{k-\ell}.$$

It follows from (4.2), (4.3), (4.10), and (4.12) that

(4.13)
$$f(z) = 1 + \sum_{n=1}^{\infty} \frac{(2b)_n}{2^n n!} (\alpha_1 z + \alpha_2 z^2 + \cdots),$$

where

$$\alpha_{1} = \frac{A_{1}}{B_{0}} = \frac{2(n-1)!}{(1+b)_{n}},$$

$$\alpha_{2} = \frac{1}{B_{0}} \left(A_{2} - \frac{A_{1}B_{1}}{B_{0}} \right)$$

$$= \frac{2(n-1)!}{(1+b)_{n}} \left[2 \sum_{k=1}^{n-1} \frac{1}{k} + \psi(1+b) - \psi(1+b+n) \right],$$

and so on. Considering (4.4), (4.8), (4.13), and (4.14), we finally obtain the following formulas:

$$(4.15) \qquad \sum_{n=1}^{\infty} \frac{(2b)_n}{2^{n-1} n (1+b)_n} = \psi(b+1) - \psi\left(\frac{1}{2}\right) + \frac{1}{b} - \frac{\Gamma\left(\frac{1}{2}\right) \Gamma(b)}{\Gamma\left(b+\frac{1}{2}\right)};$$

$$\sum_{n=1}^{\infty} \frac{(2b)_n}{2^{n-1} n (1+b)_n} \left[2 \sum_{k=1}^{n-1} \frac{1}{k} - \sum_{k=1}^{n} \frac{1}{k+b} \right]
= \frac{1}{2} \left[\left\{ \psi(b+1) - \psi\left(\frac{1}{2}\right) \right\}^2 + \frac{2}{b} \left\{ \psi(b+1) - \psi\left(\frac{1}{2}\right) \right\}
-2 \left\{ \psi(b+1) + \frac{1}{b} + \gamma \right\} \frac{\Gamma\left(\frac{1}{2}\right) \Gamma(b)}{\Gamma\left(b + \frac{1}{2}\right)} + \zeta(2, b+1) - 3\zeta(2) + \frac{2}{b^2} \right].$$

Formula (4.15) is equivalently written in the form:

Applying the same procedure as above to (2.8), we readily obtain the following formulas:

(4.18)
$$\sum_{n=1}^{\infty} \frac{(2b)_n}{2^{n-1} n(b)_n} = \psi(b) - \psi\left(\frac{1}{2}\right) + \frac{\Gamma\left(\frac{1}{2}\right) \Gamma(b)}{\Gamma\left(b + \frac{1}{2}\right)};$$
(4.19)
$$\sum_{n=1}^{\infty} \frac{(2b)_n}{2^{n-1} n(b)_n} \left[2\sum_{k=1}^{n-1} \frac{1}{k} - \sum_{k=1}^{n} \frac{1}{k+b-1} \right]$$

$$= \left[\frac{1}{2} \left\{ \psi(b) - \psi\left(\frac{1}{2}\right) \right\}^2 + \frac{2\Gamma\left(\frac{1}{2}\right) \psi(b) \Gamma(b)}{\Gamma\left(b + \frac{1}{2}\right)} + \zeta(2,b) - 3\zeta(2) \right].$$

Just as in the case of (4.15), (4.18) can also be written in the equivalent form:

Setting b = 1 in (4.16), and using (1.7), (1.11), and the following known formula (see [5]):

(4.21)
$$\sum_{n=1}^{\infty} \frac{1}{n^2 \cdot 2^n} = \frac{1}{2} \left[\zeta(2) - (\log 2)^2 \right],$$

we readily obtain

(4. 22)
$$\sum_{n=1}^{\infty} \frac{H_n}{n \cdot 2^n} = \frac{1}{2} \zeta(2),$$

where H_n denotes the harmonic numbers defined by

$$(4.23) H_n := \sum_{k=1}^n \frac{1}{k}.$$

Numerous other identities involving the harmonic numbers H_n , analogous to (4.22), can be found in (for example) [3] and [16].

ACKNOWLEDGEMENTS. For the second and third authors, this work was supported, in part, by the Natural Sciences and Engineering Research Council of Canada under Grant OGP0007353, and by Wonkwang University in 2001, respectively.

References

- B. N. Al-Saqabi, S. L. Kalla, and H. M. Srivastava, A certain family of infinite series associated with Digamma functions, J. Math. Anal. Appl. 159 (1991), 361-372.
- [2] J. Aular de Durán, S. L. Kalla, and H. M. Srivastava, Fractional calculus and the sums of certain families of infinite series, J. Math. Anal. Appl. 190 (1995), 738-754
- [3] D. Borwein and J. M. Borwein, On an intriguing integral and some series related to ζ(4), Proc. Amer. Math. Soc. 123 (1995), 1191-1198.
- [4] J. Choi and T. Y. Seo, Evaluation of some infinite series, Indian J. Pure Appl. Math. 28 (1997), 791-796.
- [5] J. Choi and H. M. Srivastava, Certain classes of infinite series, Monatsh. Math. 127 (1999), 15-25.
- [6] J. Choi, H. M. Srivastava, T. Y. Seo, and A. K. Rathie, Some families of infinite series, Soochow J. Math. 25 (1999), 209-219.
- [7] L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions (Translated from the French by J. W. Nienhuys), Reidel, Dordrecht and Boston, 1974.
- [8] H. T. Davis, The Summation of Series, The Principia Press of Trinity University, San Antonio, Texas, 1962.
- [9] I. S. Gradshteyn and I. M. Ryzhik, Tables of Integrals, Series and Products (Corrected and Enlarged Ed. prepared by A. Jeffrey), Academic Press, New York and London, 1980.
- [10] E. R. Hansen, A Table of Series and Products, Prentice-Hall, Englewood Cliffs, New Jersey, 1975.
- [11] E. E. Kummer, Über die hypergeometrische Reihe ..., J. Reine Angew. Math. 15 (1836), 39-83 and 127-172.
- [12] J. L. Lavoie, F. Grondin, and A. K. Rathie, Generalizations of Watson's theorem on the sum of a 3F₂, Indian J. Math. 34 (1992), 23-32.
- [13] G. Pólya and G. Szegö, Problems and Theorems in Analysis (Translated from the German by D. Aeppli), Vol. I, Springer-Verlag, New York, Heidelberg and Berlin, 1972.
- [14] E. D. Rainville, Special Functions, The Macmillan Company, New York, 1960.
- [15] A. K. Rathie and V. Nagar, On Kummer's second theorem involving product of generalized hypergeometric series, Matematiche (Catania) 50 (1995), 35-38.
- [16] Li-Chien Shen, Remarks on some integrals and series involving the Stirling numbers and $\zeta(n)$, Trans. Amer. Math. Soc. **347** (1995), 1391–1399.
- [17] H. M. Srivastava and H. L. Manocha, A Treatise on Generating Functions, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane, and Toronto, 1984.
- [18] E. T. Whittaker and G. N. Watson, A Course of Modern Analysis, Fourth Ed., Cambridge University Press, Cambridge, London, and New York, 1958.

Junesang Choi
Department of Mathematics
College of Natural Sciences
Dongguk University
Kyongju 780-714, Korea
E-mail: junesang@mail.dongguk.ac.kr

H. M. Srivastava
Department of Mathematics and Statistics
University of Victoria
Victoria, British Columbia V8W 3P4
Canada
E-mail: hmsri@uvvm.uvic.ca

Yong Sup Kim
Department of Mathematics
College of Natural Sciences
Wonkwang University
Iksan 570-749, Korea
E-mail: yspkim@wonnms.wonkwang.ac.kr